[)aykarNT 142 bBRK SarakRk

CénkarRbm 1 Tnny? i o G00( kalbrecTsaksrTnymbdin®— 1§40*44010
kal brecTénkarGnmteday AkmibkSiX? (#40%H00(
trg®  thnfKhdNb? PmTagGsEd ImnTnnyBoBKsarfkek
CersPm? PmTigGs
ixt isk X Pm
06 06 02 01
kBoF SNin dgkabt fsx%c

cnnksarkgPm Pakryenfksar srbkgPm

cnniksarsrokgPm 68 100%
cnntKsatkekkrtT1 7 10.3 %
cnniksafkakkrtT2 13 19.1 %
cnniksakRkkrtT1 ngT2 srh 20 29.4 %
elxkdsKalRKsar — [eQaHemRKsar T |eQ:Ho bRbBn cNat fakPaBRkRk
000(|Gm can fbs  |Cceshn !
0014{Bag m s |mseym !
00@&|meX Fay s |ektKg !
008*{Kg eFn tbs  |hesh !
008#{sg &in s [mhin !
00%4|ePek esn s !
00"etst K1 s |Caexn !
0008|ém ky s gl i
000%|Lg Ca s |Sx¢Fin 0
0008 Lak eF0n s (Gnm 0
00%cn K s [ehlg Xn 0
0018 Izs ¢bln s [Kmvc 0
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elxkdsKelfKsar — [eQaHemiKsar T {eQafb bibBn cNatfakPaBRkik
00@!|hg ePek s Ky Cs i
00#6|C B s [liseyln 0
00#(ekg £2B0n s [anym 0
008%|Emn esln s |{hgmn i
008 |Emn és s |Cnsin i
00%A{Ek ek i [FnfK i
00%S)rs esh fbs  |EmnKnm i
00%%{nn nn s |bLic 0
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[)aykarNT 142 bBRK SarakRk

CénkarRbm 1 Tnny? i o G00( kalbrecTsaksrTnymbdin®— 1§40*44010
kal brecTénkarGnmteday AkmibkSiX? (#40%H00(
trg®  thnfKhdNb? PmTagGsEd ImnTnnyBoBKsarfkek
CersPm? PmTigGs
ixt isk X Pm
06 06 02 02
kBgF SNin dgksbt fRsvilxglc
cnnksarkgPm Pakryenfksar srbkgPm
cnniksarsrokgPm 65 100%
cnnRKsakRkkrtT1 9 13.8 %
cnnksarfkRkkrtT2 16 24.6 %
cnniksakRkkrtT1 ngT2 srh 25 38.5%
elxkdsKalRKsar — [eQaHemRKsar T |eQ:Ho bRbBn cNat fakPaBRkRk
000!|mas etz s !
000*[yan smel s (Tathin !
00!(|sr T s |hinfig !
0088|sr sy s !
00%0[sxn s !
00%!sx eQln fbs  |iB ¢BA |
00%#(Est emd s |sGin simn !
00%0|sin can s |thmeman !
007d|fg ca s !
000@|Fn sn s 0
000"|yn edak ths  |Gmhth 0
0006{ém yn s |Gmem 0
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elxkdsKelfKsar — [eQaHemiKsar T {eQafb bibBn cNatfakPaBRkik
00!$|CmeLn tbs  |hgsr i
00IMGC s 0
001&|sin | s i
000!|Qn sn s [cnln i
008@]bn Qn s {mmn 0
000#|rt \N s i
00@(ef hm is  [issn i
00@(|bn SGin fbs  [tb N i
00#0]san eqm ths  |sGin sint 0
00%%|Kg sm s [Kg Xt i
008&|bm sk s |samhn i
00$*|t ehg s i
00%0[¢G 1 esg s |skexn i
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[)aykarNT 142 bBRK SarakRk

CénkarRbm 1 Tnny? i o G00( kalbrecTsaksrTnymbdin®— 1§40*44010
kal brecTénkarGnmteday AkmibkSiX? (#40%H00(
trg®  thnfKhdNb? PmTagGsEd ImnTnnyBoBKsarfkek
CersPm? PmTigGs
ixt isk X Pm
06 06 02 03
kBoF SN dgkabt fsva b xagekt
cnnksarkgPm Pakryenfksar srbkgPm
cniksarsrokgPm 128 100%
cnntKsatkekkrtT1 11 8.6 %
cnniksafkakkrtT2 22 17.2 %
cnniksakRkkrtT1 ngT2 srh 33 25.8 %
el xkdsKalfKsar  [eQaHemiKsar T {eQab bibBn cNat fakPaBRkRk
00*{ynTc s |nrefg !
008%(b F tbs sk SNin !
00" |esh sn s (Ccemk !
00&! {kk eF0n s [KaGan !
00*%0|bt esh s |hgh !
00(#|can mb s !
010@]exov ran ths |y !
0104{bn pn s |skuic !
0140Bt Gg fbs  |PmeFom !
014%|¢Gn e)ak s |skfch !
01§ (ehg evin s [eshh Gn |
00!! fem0g nn s 0
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elxkdsKelfKsar — [eQaHemiKsar T {eQafb bibBn cNatfakPaBRkik
001 {hg Laj s [¢TBesm 0
00!&(Sx Pn s [LakPn 0
0000]Gg ekogtg ths  [eFog san 0
00#%4(C mt is  [Licsk 0
008&|s Lt s  [kgwn i
00%@|yag emk ths  |Sesin 0
00"§|C mt s |sty st i
00*{snCn s |cinsm 0
00&&|Qm pn s |ehayat 0
00&(|Ky st s |Lay SPN 0
00%(Cc Cn s |sxsin i
00*A|Qm sig is  |Lgtc 0
00($|mt e)ag fbs  (TmeChn i
00(%[y Gn S i
00((|sx eGog s [BX i
010%|hgS m fbs e dm i
010&|hgs tl IS [sxm 0
0!%|Eym cen s [hhy 0
0!1(ferlg F fbs |Gk sw i
010&|Cg erlg is  |sksim i
016*|snsm S i
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[)aykarNT 142 bBRK SarakRk

CénkarRbm 1 Tnny? i o G00( kalbrecTsaksrTnymbdin®— 1§40*44010
kal brecTénkarGnmteday AkmibkSiX? (#40%H00(
trg®  thnfKhdNb? PmTagGsEd ImnTnnyBoBKsarfkek
CersPm? PmTigGs
ixt isk X Pm
06 06 02 04
kBoF SN dgkabt SBrtc
cnnksarkgPm Pakryenfksar srbkgPm
cniksarsrokgPm 50 100%
cnnRKsakRkkrtT1 1 2.0 %
cnniksatkekkrtT2 3 6.0 %
cnniksatkakkrtT1 ngT2 srh 4 8.0 %
elxkdsKalRKsar — [eQaHemRKsar T |eQ:Ho bRbBn cNat fakPaBRkRk
000%|Qm éf s [haymn !
000#|C ecom s i
008$|Kg eQug tbs  [KmeN i
00%&|£Bk bnhn is  [ektsk i
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[)aykarNT 142 bBRK SarakRk

CénkarRbm 1 Tnny? i o G00( kalbrecTsaksrTnymbdin®— 1§40*44010
kal brecTénkarGnmteday AkmibkSiX? (#40%H00(
trg®  thnfKhdNb? PmTagGsEd ImnTnnyBoBKsarfkek
CersPm? PmTigGs
ixt isk X Pm
06 06 02 05
kBoF SN dgkabt SBIF
cnnksarkgPm Pakryenfksar srbkgPm
cnniksarsrokgPm 87 100%
cnnRKsakRkkrtT1 13 14.9 %
cnniksarkkkrtT2 13 14.9 %
cnniksakRkkrtT1 ngT2 srh 26 29.9 %
el xkdsKalfKsar  [eQaHemiKsar T {eQab bibBn cNatfakPaBRkik
00@%(s Eyn s |Cyefin !
004#%(Qmke IS snL !
00$!|Gk rg s |Tthy !
00MCxn s |rsft !
00&%(B b1 s |rsmt !
00&"(ekt Xn s |tnX !
00&*|C Ca s |sigelog !
00**|ehg Cn s |isemd !
00(%|hn yn s |sxesmn !
010! {Emn esln s !
0108|Qmem IS !
010#ekt In s |san !
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elxkdsKelfKsar — [eQaHemiKsar T {eQafb bibBn cNatfakPaBRkik
0108|):g Sy is [Kmenk !
00M%(s Lt s |rdsg 0
000&Cy sx s |Emnesg i
00{Qm K s 0
00&0]s ent s |Cmchgt 0
0080 |mes ec s |hnm i
00&#|s st s fehgT 0
00&${Ekv Qn s |gs 0
008(|esheXog fbs  |eBhem i
00*!|s Im ths (Kt 0
00% ekt mis s i
00*#|Qmepg s [EhmkKs 0
00 {Km kan S i
00((]ys gk fbs | i
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